R BT R REIFH S (FRHIH) TR HHTE 1A 168 (K
Frx

= g & B & .%( E E fi& o,
WA 127.9 IR 1,512 1,188 1,188 13 A LL
IZACA 33.2 ERE 1,728 — 1,620 10 A M
IZALA £ & - 1,944 — 0] A LL
ZIES5 0.6 IR 1,620 — 1,512 2l A M
EXER 210.4 IR 2,268 2,160 616 15[ A 6
HTE 1.9 2 2,970 2,160 2,160 5
—EO1 6.6 & [ 2,160 — 1,944 4l A L
FrRy 130.3 IR 1,944 1,944 1,404 10 8
IE5NAZES 4.1 12 [H - 2,592 - 6
IE5NAZS BRE 3,672 3,024 2,808 4f A M
hE 20.0 ERE 2,160 1,944 1,836 3l A LL
hE =I5 1,728 — 1512 3l A LL
_hE 15 = B 4,860 4,860 2916 3 M
_hE 2 [ 4,860 — 3,564 3] vay M
LwA=E< 0.7 BRE 3,456 2592 2,592 4f A
125 2.1 =l 8,640 8,100 7,560 5/ A M
+)L)— 1.5 2 [ 3,240 2,700 2,700 0] A LL
T RINSGHR 0.1
HhyI757— 0.6 BRE 950 950 842 5/ A
JOyal)— 8.2 BRE — 3,888 — 5/ A M
Joyal)— E 15 - 5,400 — 6] A L
LAR 47.0 £ & 2,376 907 907 0] A 12
LAR BRE 1,620 1,404 1,404 10 12
FoTHA 1.7 BRE 2,592 1,944 1,728 4f A L
=Y 28.4 BRE 2,538 1,836 1,728 5/ A M
=p5Y =0 2,376 2,106 2,052 5] A M
ANESSED) 5.8 BRE 1,620 — 1,296 10 8
e 2.0 = % 1512 972 972 25| A M
B BRE - 2,160 — 4l A LL
<k 14.7 BRE 1,404 1,296 1,188 4 B LL
k< BE X 335 324 86 0.5 4
I=kTh 8.2 BRE 184 130 119 02 A M
F—<> 16.5 BERE 7,020 5,400 4860 10 A
F—<> =I5 - 2,754 — 39] A M
[2A5Y kR - 2,484 — 3l A LL
SPVAITFA 0.1 BRE 3,780 - 3,564 2l A
SPZAES 1.8 BRE 1,620 1,080 1,080 1 A
E—X BRE - 1,728 — 2
MrAL& 6.5 BRE 1,944 1,620 1,188 5/ A L
IEhLs 49.2 K B 3,240 — 3,132 0] A L
IEhLs £ B - 1,404 - 10
[ECTRYNS JtiEE - 2,970 — 0] A LL
=L 7.7 =l - 96 — 1 A L
AL 1.2 "5 & - 4,860 — 10 B 3L
f=Fh&E 82.1 JtiEE 3,672 3,456 3,240 20 L4'4
ELLV=T 2.2 BRE - 119 — 0.1 M
HELLV=IT =l 194 — 184 0.1 A M
ZDEET 5.6 K & 59 59 43 0.1 A
ZDEET =l 59 51 41 0.1 A
LHL 3.1 2 [ 151 - 130 0.2
S ER T 842.5
B=

s g & B & .%( & E & B
BMAHMAEE 26.5
B4R 1.3 K B - 4,536 - 10{ 7hv2 L
AR M E 15 - 5,832 - 10[ 7h¥a M
A B M E 15 - 5,832 - 10[ 7hva S
iR 25.2 BE K 4968 4320 3,780 10 L
iR B K 7,020 6,480 6,264 10 M
iR B X 6,804 6,480 4,860 10 S
iR BRE 4,320 — 3,240 10{ 74v1 L
iR BRE 6,480 — 3,780 10{ 74v1 M
iR BRE 7,020 — 3,780 10[ 74v1 S
*—JIL 0.1
LEMA T - 4428 - 10{ 7hv2 3L
[Foz< 05
R h 3.2 BRE 2,484 2,160 1,944 5| 742 LL
LEY 1.0 £ B - 1,620 - 10| LYY M
INLUYT 1.7 = 8,100 — 5,400 17 88
L7 0.2 = 6,804 6,156 5,940 15 35
HhoHhrAED 1.2 £ B — 2484 — 5 LL
YAZE 18.9
PEFE=IAN 1.7 5 7 6,912 — 6,264 10| 7421 36
AL 12.4 ' & 6,912 6,264 6,264 10[ MA 40
T 3.0 "5 & 6,264 4968 4,968 10
hEE 28
=21 28 B2 [ 2,808 — 2,700 5] A L
W52 3.7 BRE 594 540 518 025 A LL
AO2EF 1.4
7—ILR 1.3 BRE - 9,720 — 8| 7hva L
ZFDAOY 0.1 =l - 9,720 — 8l A L
INFF 11.2 EYEY 5,940 3,694 3,283 15
NAFyFTIL 2.9 EYEY 3,456 3,240 2,700 10 8
FoA42)LY 0.4 2 [ 3,024 — 2916 3.6 36
BERE 82.0




